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L’Hôpital’s Rule

Taylor’s Theorem

L’Hôpital’s Rule

Theorem (Rule for 0/0 Forms)

Suppose f and g are defined and continuous on an open
interval I containing the point a, f and g are differentiable on
I \ {a}, f (a) = g(a) = 0, g0(x) 6= 0 for x 2 I \ {a}, and
limx!a

f 0(x)
g0(x) exists. Then limx!a

f (x)
g(x) exists and

lim
x!a

f (x)
g(x)

= lim
x!a

f 0(x)
g0(x)

.
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L’Hôpital’s Rule

Taylor’s Theorem

Proof
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L’Hôpital’s Rule

Taylor’s Theorem

L’Hôpital’s Rule for 1/1 Forms

Theorem (Rule for 1/1 Forms)

Suppose f and g are defined and continuous on an open
interval I containing the point a, f and g are differentiable on
I \ {a}, limx!a f (x) = limx!a g(x) = ±1, g0(x) 6= 0 for
x 2 I \ {a}, and limx!a

f 0(x)
g0(x) exists. Then limx!a

f (x)
g(x) exists and

lim
x!a

f (x)
g(x)

= lim
x!a

f 0(x)
g0(x)

.
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L’Hôpital’s Rule

Taylor’s Theorem

Proof
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L’Hôpital’s Rule

Taylor’s Theorem

Proof
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